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QUESTION 1

How is policy defined in terms of classloader of an API?

A. Classloader isolation does not exist between the application, the runtime and connectors, and policies.
B. Classloader isolation exists between the application, the runtime and connectors, and policies.

C. None of these.

D. Classloader isolation partially exists between the application, the runtime and connectors, and policies.

Correct Answer: B

QUESTION 2

According to Semantic Versioning, which version would you change for incompatible API changes?
A. MINOR

B. PATCH

C. MAJOR

D. No change

Correct Answer: C

QUESTION 3

Refer to the exhibit.
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What Database expression transforms the input to the output?
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A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: D
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QUESTION 4

Why would a Mule application use the ${http.port} property placeholder for its HTTP Listener port when it is deployed to
CloudHub?

A. Allows CloudHub to automatically change the HTTP port to allow external clients to connect to the HTTP Listener
B. Allows CloudHub to automatically register the application with APl Manager

C. Allows MuleSoft Support to troubleshoot the application by connecting directly to the HTTP Listener

D. Allows clients to VPN directly to the application at the Mule application\\'s configured HTTP port

Correct Answer: A

QUESTION 5

Which one of them is NOT a flow in Mule?
A. sync flow

B. subflow

C. async flow

D. async sub flow

Correct Answer: D
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